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P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% SFI07T4E04H 11 H eI Dt e/ 85 (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]
xR & )l 10. 00 [ #H%f 300 3, 000 1,512 1, 404 1,188
IENE w5 10. 00 | #H%F 655 6,550 3,564 3,176 1,080
B X £ % 15. 00 | #85f 618 9,270 1,998| 1,361| 1,134
X D O 12. 00| AH%F 381 4,572 1,836 1,417 1,210
ESF AWII--N o JE 0. 20 | FHxf 780 156 108 95 76
T 400 FAxt| o] 0 | 1,620
H & SR 3. 00| FHxf 624 1,872 1,728] 1,341 756
H A el 1. 00 | #H%f 230 230 540 491 216
ENIE so0l ft| 6] 30| 2,160 2,070| 1,620
T R 2. 00| FH%F 255 5101 1,080 853 594
= e K 4. 00| FHxf 177 708 1,188
[ 1N 5 5. 00| FHxf 629 3,145| 1,620 1,367 1,080
& 4 | soo0|Hxt| 6] 30| 1,836 1,512 1,188
~7 b= b M 3. 00 [ FHx%} 85 255| 1,620 1,469 1,188
SR gL 2. 00 [ FHx} 22 44| 2,376 2,288] 1,404
e VR 10. 00 | AH%F 21 210 3, 672
£ A b 20. 00 | #H 5%} 880 17,600 3,240| 2,586| 2,376
| 10.00|Fxk|  200] 2,090 2,376| 1,854 648
L&A I 10. 00 | #B56f 841 8,410 2,376| 1,753 864
P=—1rF & [ 4. 00| FHxf 710 2,840 1,512 655 432
Tayal— (r— 6. 00 | FH%f 164 984| 3,888 2,376
ENIN .00 Fixt| 2| 2l ] 0,808
L xon A 4. 00 | FH%f 3 12 5, 400
AEHEE w5 0. 10| #Hxf | 2, 250 225 151 100 65
ZDEH £ % 0. 20 | #8 5t 1, 200 240 59
LU 5 % 0. 20| FH%F 150 30 81
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P g SR
ESR S TR = 1 =i Q1 IV NI )
RHE SFI07T4E04H 11 H eI Dt e/ 21 b (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

LEY T AU A | 17.00| A%t 10 170 5,939
5 U H & 10. 00| FA % 282 2,820 5,292 4,553| 3,618
SR H O 10. 00| AH%F 18 180 5, 346
AVavE 7 4 U E | 13.00| ¥E%F 36 468 2,862 2,727| 2,700
HEBR D & [ 0. 27 | ¥H%} 1,790 483 410 357 324
S X EF I 0. 25| A%} 5, 737 1,443 486 313 162
RIHD Y £ IR 0. 25| FHx} 1,676 421 335 286 130




